+5v
Ul Ll 47uH +1.2v
! . e Ls 1206
o 55 VIN SW e VY Goar
= GND A Xomm power mductor ferrite bead
EN FB [= CT] 10uF
LM3670MF-1.2 ——X7R >=6.3v
HQO 0805
= QZU
GND =
4.7uF DN 12 I
X7R >=6.3v —+
030 .2V Supply
U9 $>w<
+|w|< ; OUTPUT w
Cl6 INPUT OUTPUT 2 Cl17
a
1uF z —— 1uF
X7R >=6.3v © X7R >=6.3v
0603 [ 0603
—  TLVIII7LV33 — —
GND GND
GND
+3.3v supply
Ground clip pads

TP5 TP6 TP7 TP8 TPO9TP10TP11TP12

e

GND

Power supply test
GND

points, top side

F1

500mA resettable polyfuse
1206
0

Vusb

L2

ferrite bead

1206

+5v

AR AT = +5v lg Net Class ClassName: Power
MM MM MM +3.3v () Net Class ClassName: Power
TPt TP2 TP3  TP4 ; . .
33y 12y v end +12v—(DNet Class ClassName: Power Copyrights: CC-BY-SA 3.0 Patents: Apache 2.0
’ ; : Title
Vusb (i)Net Class ClassName: Power
e Net Class ClassName: Power Size Number Revision
GND A
Date: 4/20/2014 [ Sheet of
File: Z:\ov_ftdi\hardware\power.SchDoc | Drawn By:

3




1

Ml M2 M3 M4
1/4" 4-40 screw 1/4" 4-40 screw 1/4" 4-40 screw 1/4" 4-40 screw
M5 M6 M7 M8

1/4" 4-40 screw 1/4" 4-40 screw 1/4" 4-40 screw 1/4" 4-40 screw

<

10

=

12

1/4" x1/4" F/M 4-40 standoff1/4" x1/4" F/M 4-40 standoff1/4" x1/4" F/M 4-40 standoff1/4" x1/4" F/M 4-40 standoff

U2F
433V VCCO0  VCCAUX 22433
22 VCCO 0 VCCAUX —32
VCCO 0 VCCAUX
& 53 U2G
103 VECAUX 50 108 49
2 VCCO1  VCCAUX X GND GND =
MHole3 2mm 2 veeo s = GND GND —22
VCCO 1 VCCINT (—5 {+1.2v 59— GND GND —
o VCCINT (3 22 GND GND 2
2 veeo 2 veent —3% 3% GND GND (—t
VCCO 2 VCCINT 22 >~ GND GND
s VCCINT GND
MHole3.2 | = XCOSLX93TQGIMC =
oles.Zmm X . 3
W oo GND GND
XC6SLX9-3TQG144C
+3.3v Veeo 0 +3.3v Veeo 2
T . T,

MHole3.2mm

&

1o Iﬁnﬁ Iﬁnﬁ | 59 R Iﬂlot o
1 1 1 1 1 1 1
IFI 10uF 0.1uF 0.1uF 0.1uF | 1o 0.1uF 0.1uF

X7R >=6.3v X7R >=6.3v  X7R >=6.3v X7R >=6.3v — X7R>=6.3v X7R >=6.3v X7R >=6.3v
GND 0805 0402 0402 0402 GND 0805 0402 0402
MHolo3 2mm +M_M< X Veeo_1 X X +N_M< X Veeo 3 X X
C6 C35 C49 C51 C4 C33 C34 C38
1.2y VeeINT 10uF 0.1uF 0.1uF 0.1uF 10uF 0.1uF 0.1uF 0.1uF
I_I — X7R>=6.3v X7R>=6.3v X7R >=6.3v X7R >=6.3v — X7R>=6.3v X7R>=6.3v X7R >=6.3v X7R >=6.3v
GND 0805 0402 0402 0402 GND 0805 0402 0402 0402
C3 C19 C20 C21 C29
10uF 0.1uF 0.1uF 0.1uF 0.1uF
— X7R>=6.3v X7R>=6.3v X7R >=6.3v X7R>=6.3v X7R >=6.3v
GND 0805 0402 0402 0402 0402
+w_.M< VeeAUX Copyrights: CC-BY-SA 3.0 Patents: Apache 2.0
N N " . Title
C2 C23 C24 C25 C26 C27
. . . o ° Size Number Revision
10uF 0.1uF 0.1uF 0.1uF 0.1uF 0.1uF A
— X7R>=6.3v X7R>=6.3v X7R>=63v X7R>=6.3v X7R >=6.3v X7R >=6.3v -
GND 0805 0402 0402 0402 0402 0402 D 202014 | Sheet 20f
File: Z:\ov_ftdi\..\FPGA power v3.SchDoc | Drawn By:

2 3 4




ClassName: Power +3.3v local3.3v locall.8v +3.3v U4
\ el par L matin o
1 rgervausD, cis Cl2 cl focal3.3v 9] VDD DATAl 6 targetIULPI D2
VBUS > 0603 0603 0603 +3.3v t VDDIO DATA2 <z——
D- targetD N o o o DATA3 7 targetlULPI_D3
3 targetD P u u u 23 | 8 targetl ULPI_D4
S C4l c13 —=7R 52637 ==XTR 5=6.3v==X7R >—6.3y _locall 8v}|——="— VDDI8 DATA4 <55— =0 UTPI DS
—] SN/ - W00l IuEg0e0. GND GND GND R14 17 DATAS =t et IULPL D6
61729-1011BLF =  XR= XTR ==6.3v targetVBUS F—W 0605 | VBUS DATAS =3 target1 ULPI D7
DATA7 =
GND P2
— targetlULPI RST | targetlULPI_STP targetD N 14 24  targetlULPI_STP
b hield GND target ULPL DR | |~ targetlULPL CLK argetD P13 DV Nty 3 target ULPLNXT
= targetlULPI NXT | 5 6 targetlULPI_DO DIR 1 targetl ULPI_DIR
@ targetlULPLDI__| - ¢ targetl ULPL D2 S TP13
0.1uF 0402 targetlULPT D3 | 9 10 targetl ULPI_D4 O\W .m: etID 18 D CLKOUT 2 targetlULPI_CLK
2 _ targetlULPI D5 targetlULPI_D6
X7R >=6.3v v 11 12— —
—— (argetVBUS targetlULPL D7_| 13 14 = 0402 P14
S - Y1 GNDO.1uF 20
GAD R26 Header 7X2 —= | 21 Mmﬁorﬁx_ RBIAS |12 Q
3 DNP (0)' 1206 GND f
1 26MHz targetl ULPI RST 22 25 R2
VBUS RESETB GND
M D. k2 targetD N R24 1 8.06K1%
g D+ 3 targetD P WA USB3343 — 0603
1= < 1M 0603 GND
=re G o ——C63 —C62 —
E27-AC54-100 18pF 18pF GND
P5 | 0603 | 0603
Current measurement —_ —  ClassName: USB -~~~ R4 —~-  ClassName: USB
48 GND GND  Net Class(i —tazetDtap N ez N (i) Net Class
= 1K
0.1uF 0402 = I
ﬂvﬁw >=6.3v GND Net Clas @ targetDtap P A targetD P @ZQ Class
\ 1K 0603 i
GND ClassName: USB ClassName: USB

optional RAM clk termination mwa ASLCIOMI6ADD.TS
RAM CKE . g EEER888 or W9825G6JH-61
S>5>0Qa04A 2
RAM CLK o 3871 o EREE or AS4C16M16S-7TCN
RAM_CS0 19 | =< 40
RAM WEZ 16 o e
RAM _CAS 17 | == 15 RAM_DQML
CAS DQML 2 AV
RAM RAS HSWAPEN 18 | pos DOMH |22 RAM_DQMH
RAM A0 23 2 RAM DO
RAM Al 24 Y w% 7 RAM DI
RAM A2 25] ') D2 “TRAM D2
RAM A3 __ 26 7 RAM D3
A3 DQ3 (=" +33v Veco 0
RAM A4 29 ‘o DQ4 & RAM D4 T
RAM AS 30, s DQ5 sl RAM D3 17 lcis oo c14
RAM A6 31 ‘»o DQ6 |l RAM DG 1€ 1€ ¢ N
RAM A7 32 13 RAM D7 T T T T
RAM AS 33 s wmw 2 RAM D8
RAM A9 34 '\ DY 44 RAM D9 0.1uF 1uF 0.1uF 1uF
RAM AI0_ 22 70 DO "5 RAM D10 — X7R>=6.3v X7R>=63v X7R>=63v X7R >=6.3v
RAM ATL 35 ] % DOLL Y47RAM DIl GND 0402 0603 0402 0603
RAM AI2__ 36 Y48 RAM D12
Al2 DQI2 20 RAM D13 +M_M< Veeo_1
DQI3 A : . .
RAM BAO 20 51 RAM _DI4 o o » Copyrights: CC-BY-SA 3.0 Patents: Apache 2.0
RAM BAI 21+ 520 DQI4 =3 RAM DI5 RIS (5 £ R i
BAI oooo DQIs L3
sgegEey
0.1uF 0.1uF 0.1uF Size Number Revision
lslelalele = XTR>=63v XTR>=63VXTR>=6.3v | ,
Q|=[A 7= 1=]5 ___ I GND 0402 0402 0402
Date: 4/20/2014 [ Sheet of
File: Z:\ov_ftdi\.\RAM and target USB.SchDdcDrawn By:
1 2 7 3 4




u2cC U2D
Signals used during FPGA configuration ml W RAM_A4
m 5%2%@”%&%;0%%% @mn_ww% P502): m 5|EZH|O<\M_%HW mu WWK ww
z &omwmw%%@_o%%m 4 %_w@ B, RDWR_B, CCLK, PROG_B, z HH%\_WNHM\W 32 RAM A7
< LN L DONE, INIT_B, M0, M1 < _L2N SIS0 RAM A8
g 10 L3P D0 DIN MISO MISOI 2 z 101363 (55— Mo
LIS &%wm_muwom ﬁmmwﬁm . Additional signals used during FIFO H_w Hmwwﬂ w 27 __RAM Al
mode: RAM Al12
- o Tt
10_L13N D10 2 ACBUS2 (RD#) 10 L4IN_ GCLK26 3 Arw\yz DOME
10 L14P D11 2 ACBUS3 (WR#) 10 L42P GCLK25 TRDY2 3 |fa22—RAM_D8
10 L14N_DI2 2 ACBUSS (CLKOUT) [0 L42N_GCLK24 3 Arw\yz Do
10_L30P_GCLK1 D13 2 RANMECKE S ACBUSG (OE#) 10_L43P_GCLK23 3 | kil —RAM_DI0
10_L30N_GCLKO_USERCCLK 2 L CBUS0 10 L43N_GCLK22 IRDY?2 3 [fai&RAM DIl
10_L31P_GCLK31 D142 s ars 1Os: 05CO 10_L44P_GCLK21 3 [faa—RAVLD 2
5|S_z|m_mhmmmo%|w T e Ho|rﬁz|_ooowrrmwwuw #]w ) wﬁuw# ;
I0_L48N_RDWR_B_VREF 2 = 10_L49N_3 [ AN -2
o ]
10_L62P D5 2 10 L51P 3 A.Tw wwﬁwﬁ
HM\WNM\WM‘W ACBUS2 Hmv\rrwwﬂ\w 6 RAM AL0 RI
e ACBUS3 oo o3 RAM BAI 060 Us
U 3 _LS2N_3 Bk AM_BAO 10 |4 3 SPARE9
10_L65P_INIT B_2 s 10_L83P 73 flod—AN-2e) VCC OUT B=—
10 L65N_CSO_B_2 10 _L83N_ VREF 3 | ft— | 5
XC6SLX9-3TQG144C XC6SLX9-3TQG144C Y G
U2A 0| s0MHz GND
= I0_LIP_HSWAPEN_0 RANLRAS HSWAPEN o1uF
N _o|Ez:w\ _me m RAM_WE# X7R >=6.3v
z 10 12N 0 RAM_DQML U2B 0402 GND
M i RAM D7 10 Lip | Weel05_targetDtap P )
10 L3N 0 RAM_D6 = e targetDtap N Spare SOMHz clock for bringup
10_L4P 0 L INL OB = ~ 10 L32p 1 FIEEL
o RAM D4 z ot EEI0L SPARE! GND P4 GND
10_L34P_GCLK19 0 QRIS JOE M 10_133p_1 [ri00 SPARE2 L [, L] 74 Trigger in
D TP RAM D2 o] SPARE3 ~ SPAREO | | 7 SPAREI
10_L35P_GCLK17_0 LR DL 10 L34P_1 SPARE4  SPARE2 5 ¢ | SPARE3
e RAM_DO e SPARES ~ SPARE4 | > & SPARES
Iy T TARGETIULPI RST 10 Latp St SPARE6  SPARE6 | , b SPARE7
R TARGETIULPI_STP e SPARE7  SPARES L SPAREY
AP TARGETIULPI DIR 10 LAl k0 SPARES ~ SPAREI0 | 1 |7 SPAREI
e TARGETIULPI CLK e SPARE9 ~ SPAREL2 | 1 ¢ SPAREI3
L TARGETIULPI NXT Ly SPAREI0 SPAREI4 | > |8 SPAREIS
0 Leo et TARGETIULPL D0 ) A5 (e i SPAREIl ~ SPAREI6 | /)b SPARE17
LN \ABEI | TARGETIULPI DI 8 SPAREI2 SPAREIS SPARE9
10_L63P_SCP7 0 10_L43P_GCLK5_| SPAREIS 5y pp | GND
LIRE FOIP7 | TARGETIULPL D2 SPAREI3 _ :
10 L63N_SCP6_0 U 10 L43N_GCLK4 1 +12v 3 4 +5v
LILEEIN I | TARGETIULPI D3 SPARE14 _ _
10_L64P_SCP5 0 T ARGETIULP D 10 L45P_I NENNMERE N 25 26 |+3.3v
10_L64N_SCP4 0 = 10 L45N_1
e g TARGETIULPI D5 o SPAREI6 Header 13X2
e TARGETIULPI D6 e SPAREL7
LI SICIP | TARGETIULPL D7 LRI, SPAREIS
10_L66P_SCP1 0 10_L47P_1
| TP16 SPAREI9
0 _L66N_SCP0_0 10 L47N_1 2
IXC6SLX9-3TQG144C 10 L74P AWAKE._ 1 trig_in
12l |+wm< DONE 7l phoNE 2 10_L74N_DOUT BUSY_1 frig_out
1
) ,|:__ozo PROG 37| program B 2 XC6SLX9-3TQG144C
M CK SN EH AUIAEND Copyrights: CC-BY-SA 3.0 Patents: Apache 2.0 GND
TCK 109 Title
w DO TDI 110 Mmﬂ +3.3v SW1
6 DI TDO 1067 10, T RIO SWi1 I T GND
8 Vs TMS 107 T™MS 10K 0603 ) mm 3 GND Size Number Revision
9 1 A
TP17 7 TL1105LF160Q or TL1105F160Q
Header 9 Ox—==| OMPCS B 2 Date:_ 4/20/2014 [ Sheet of
XC6SLX9-3TQG144C File: Z:\ov_ftdi\hardware\fpga.SchDoc | Drawn By:
1 2 7 3 4




1 2 3 4
Inspired by http://www.ftdichip.com/Documents/DataSheets/DS_FT2232H_V206.pdf page 47
$ w<_|ﬁ))) VDI ()Nt Class +1.8v +1.8v +1.8v +33v +33v +33v +33v
’ ferrite bead 1206 o
L4 ClassName: power 52 53 54 55 56 57 58
A3V . . Vphy D) Net Class 0.1uF 0.1uF 0.1uF 0.1uF 0.1uF 0.1uF 0.1uF
: forrite bead 1206 \ . X7R >=63v | X7TR>=63v | X7R>=63v | X7R>=63v | X7R>=63v| X7R>=63v| X7R>=63v
C50 |47 (ClassName: power 0402 0402 0402 0402 0402 0402 0402
4TuF - ——C8 (O —— = = = = = = =
X7R vnowmw GND GND GND GND GND GND GND
b b ClassName: power
= = = = +1.8v
GND GND GND GND @ZQ c mew 3v Signals used during FPGA configuration
ATF 0.1uF  0.1uF ’ (ONet Class (see XAPP502):
Xy (020402 sl=lgfg]  ClassName: 5 CSI_B, RDWR_B, CCLK, PROG. B
0805 <o ] 15+ ]t i et assiName: power S b =D g 5,
u7 £ DONE, INIT_B, M0, M1
Ea 50 | Vreeln hNWl., m m m m Dc m m ADBUSO 16 DO % Additional signals used during FIFO
0.1uF [C46 en > 288 SELE -7 D! = mode:
X7R >=6.3v o 49 | yeoout T e D2 = ACBUSO (RXF#)
0402 oV mwa ghu v EEEE 5 ACBUS2 (RD¥)
0.1uF 2L Ds E ACBUS3 (WR#)
=3 usb 7R >=6.3v ADBUSS 22 D5 & ACBUSS5 (CLKOUT)
J1__GND 402 23 D6 =2 ACBUS6 (OE#)
) = ADBUS6 3 D7 E
<WH_WM 2 USB N GND 7 DM AU spare 1/Os:
o AM USB_P g NCETED Nw ACBUSO oLk
- AAA
H ow FT2232H ACRUS 1T o F o
= 61729-1011BLF —_ ACBUS3 k22 ACBUS3 D2 L2 D3
GND GND 30__ACBUS4 34—
ACBUS4 i —D=2227 oo D4 D5
32 23 CLKOUT =5 60—
| REF ACBUSS 19332 CBUS6 33" 0603 D6 17 g —P7
ACBUS6 isz—spmes—= ACBUSO | ¢ |0 [_CCLK
RESET# ACBUS7 =24 ACBUS7 ACBUS2 | 7, |, [_ACBUS3
ACBUS4 CLKOUT
BDBUS0 o5 DL (K ACBUS6 | 13 14 ACBUS7
BDBUSI (e FTDI_TCK FTDI_TDI
Sr13 fR12 SR1I 40 _FIDI_TDO D=t 17 18 ——
20603 S vomow BDBUS2 T e ETDI TDQ FTDI_TMS
2 30603 41__FIDI_TMS S 19 20—
BDBUS3 (2 BDBUS4 BDBUSS
10K |10K |10K 43__BDBUS4 S 9] 22—
BDBUS4 BDBUS6 BDBUS7
EECS 44__BDBUSS S22 03 24—
BDBUS5 CSI B RDWR B
EECLK 45__BDBUS6 = 25 26 —— =
EEDATA 63 BDBUS6 = BDBUS7 DONE __1 57 28 —PROG
EECS BDBUS7 2——=2e2l BCBUS4 INIT B
U8 62 SEELT 09 30 —— -
1 8 gy SCLc 48 CSIB MO 3y o3 M
= CS vee — EEDATA BCBUSO e—eRom—— 5 o
3.pvf—=— ORG R17 BCBUSI ms—r o
3 4 53__DONE L L
D Q BCBUS2 = Header 17X2 —=
2 0603 ' 22K 54__PROG
SCL - GG % BCBUS3 <e— omer— GND oz_u
5 DU —— 0SCI BCBUS4 A.T N
GND XC1289CT-ND oBuS 3 Mo FIDL TCK g |-TCK
= M93C46WMNI Y2 _NZIN 59 M1
GND  556-A93C46DNSH-B (29803 | 6500 BCBUS7 FIDI DL rap TP
b=} 60
= g9 TYTWTTTTYT PWREN# FTDI TDO TDO
134, Pulls per UG380 p34 mwww _omm TEST < & 558585868 SUSPEND# =% [T ]
T R18 DONE 0603 O@Ow FTDI TMS E T™MS
e— (=1 — wn|—=|n|njn|cs|—
— — Anl Aamd (2] K321 A K] .
PROG GND GND Copyrights: CC-BY-SA 3.0 Patents: Apache 2.0
0603 1 Title
INIT B =
T0K_ ' '0603 GND
R21 RAM RAS_HSWAPEN Size Number Revision
TOK ' 0603
R — >
GND Date: 4/20/2014 [ Sheet of
File: Z:\ov_ftdi\hardware\usb.SchDoc | Drawn By:
1 2 3 4




4930.00 (m1l>

[FEN

10k
c7

50

d L1

LM367

2780.00 (mil>

Top Layer Top Overlay

Mechanical 1
Mech2 (Acrylic)

Mechanical 5 .
. Multilayer
Mechanical 11
Mechanical 13
Mechanical 14
Mechanical 15
Mechanical 16

Size legend:
1 sq in

FarSite ()

(>SeraiMor<_)
CopyTrans

PacketBLUE.com




4930.00 (m1l>

%

% %

15

TP17

a3 & &F

[ )
LJ
‘HEe e @
[ ]

0000
0000

=
@ ©

()

0000000

1 1e>1ueydsy
1 Te>tueyosy
1 [ed>tueyosy
1 Te>1ueyosy
1 Te>tueyosy
G edtueyday|

9
fe]
¥
€

1

aafertiiny

1 Te>1UeyYdsy

(PunoJgy zaaheq



4930.00 (m1l>

ﬂ @ ' o0
b B il L

)

000 -
g 0000000000000
ol e00000000000

00000000

feq

1 1es1UeYOdSy
1 [edtiueyosy
1 Te>1ueyosy
1 1es>tiueyosy
G 1edtueyday
1 1ed>1Uueydsy

(AETE) €49

aafertiiny




(TTW) 000842

4830.00 (mil) ,|

= O] @ =
@ @
U’(O O d0

@O o

2Q Q@ C='©

2@ @ue M A
W

o
® ®
a@ @ v @ e

o ©°

D+

Q « ip
o =

Q

O "

OOOOOOOOOOOOLJ o
OO \3 @ 0 \.

XXX XXX W
PDpDMD MDD o
nnnNN ANnN ot
I3 I 2
pLUpLY DD ]
0 33333 3 3 3
e sERas AR T
- N nNnANN NN v
n PN AL T
w == == =L =} ]
n - \C s
o - i
- Q ACI AW -
Jn0 Q
a =
& £
(=
=
o.
=
v
c
[}
S




o ‘ Top Solder




‘ o‘ wo:oamopn_mw
L]
., ooom .

X
oo
L] ° ®e °
. e HO
( X J
° e o ( X J
" . ° o ® ° o0 .o oo
° ( X J
o e °° ( X J
. .
° ve® . o, ( X J
© o o0 o ° ° ( X J
L[] . ° QOO o0
.
e ° o ( X J
o o ° e% ° 00O
. . ( X J
L]
e o ( X J
oo ° o0 ° 5 9° °
oo ®o0 o0 °
. ° o . oo ° (]
° [ ] L] L] L] "
L) L]

. ° ° ° o
.................o
000000000000OCOCGOCGCOS ° .

o .
.
o o . @ 0
° L] L] °
° 0. . .
° ° ° |
o ° % ( N |
° ° .
. . —-—
° ®
e 00
° H '
. . o .
° ° e o° o mmm
° © ® o o0 o
° .
[ ] | 0o ©



aiysed do)



g P5 2
2 £
@ (] m
2 target current
- measurement
2
W, cas
0 a Mg L]
c i @ d+ " d
» .- IV
a i ; @ "
=z O 1FC13 R2rbias o 7 % 3 3 s £
O S ca1 R14 10k g oc o r as
= = s 1uF - _ g
[ J L a
- < > 1M R24 targetiD C11 g¢p clk | 3338 43 cut links first!
— 26MHz 1
. m o z 2 14 =]
‘ \ v z
= w vie , 1 13 P4 10u
S s 18pF w2 WFPRE S E S 3 85 - N
P —
U= (sSerralMen<d ° 55 5 ¢
b5} 8
0 s1
__ w R21 0k o
o 10u [T B R R R S B R T s2 s3
] u3 10 o 100 MIgen
. u
e 54 1e 3 108 s4 5
a -
< - 1uF omww - 7 s7
S
3 - - s8 9
g
mm XCBSLX9
. wmﬂ “a8 @1 - TQG144 510 s11
3 mmm - . mww s12 s13
- 328 - c20
a 208 - - cag s14 s15
3 203
Edg c21 -
- =22 . - ca2 516 s17
33 -
36 s18 s19
R25
- - 73
s 0u 10u 5op sv w2
27 28 P 7 c
7
c37 Re 330 c6 10u s N 3v3 3v3
3§ w& 100
I 8 g lla
— b1 &
~ c . 9 N & s v o 26
L Z| R | g g m =
. 3
103 < 50MHz
o 1 PacketBLUE.com i s o
w22 2 s57 52838 ¥Sssss oY
1w 33v
2 Tlga s |
T o 8 w8 K @8 2 5 5 5 0 = ~ 0 om o
) | ] 3
m R R RS
£ H s
cs6 T = tck
R18 330 @ , 8 2 8§ | "
R19 10k cs3 ! 33 tdo
R20 10k 2k2 a9 U7 3,
R17 cs7 tms <
’ . cut for — <
® FT2232H A | _extiaG ¥
3 dat -
o -
l us . 5
= 64
A -~ a6 .
o989 5
22 3
18pF »
c60 n[o a7 =
E ca7
]
S
o
= -
% it o1
1
to analysis
host

OpenVizsla v3.2

(c) 2013,2014 bushing

Top Overlay

FarSite’l

COMMUNICATIONS

B086¢
(>SeratMor<_)
CopyTrans

PacketBLUE.com



Mech2 (Acrylic)

Size legend:
1 sq in




4930.00 (m1l>

E
=]
.
= = E
BmE g
=1
O (0]
=]
B =
B
E + = +
=]
=]
w5
=] & FE
@ = EEE
@ @
@ @

Mechanical 1
Mech2 (Acrylic) Keepout
Mechanical 7o
Mechanical 11
Mechanical 13

Mecha

nical 14

Mechanical 15
Mechanical 16

Size legend:
1 sq in

_\ 2780.00 (mil>

Layer Stack Up Detail for: ov_ftdi.PcbDoc
Layer Ger ber Copper Dielectric Dielectric Dielectric Dielectric
Name Document Thickness Height Material Constant __ Type
Top Solder Mask (.GTS) 0.4mils Solder Resist 3.50
Top Layer (.GTLY 1 oz 8 mils FR—4 4.80 Core
Internal Plane 1 (.GP1> 1 oz
40 mils FR-4 4.80 PrePreg
Internal Plane 2 (.GP2) 1 oz .
8 mils FR-4 4.80 Core
Bottom Layer (.GBL) 1 oz
Bottom Solder Mask (.GBS) 0.4mils  Solder Resist 3.50
Notes: unless otheruwise specified
1. Silkscreen both sides with non-conductive, RoHS compliant ink
not allowed on component pads or vias (color = WHITE>
2. Material: RoHS-compliant FR4, 1 oz copper on all layers
3. Solder mask: RoHS-compliant SMOBC, type LPI (color = BLUE)
4. Finish: ENIG (3u-5u thickness)
5. All hole sizes are after plating
6. Uendor may use tear drops to improve annular rings as long as
DRC rules are followed
7. All finished pads to be 100”% electrically tested




4930.00 (m1l>

T oG

el

o

O
# ’
11 04 O
Clh 040 Ol
HH iz
© oo oo
i
= @O
[m] O
[l
+ o (]
0O
] F-Wi
O
0o o 5 u@u
- N DI
—
(=] O (]
g Oq 8 2 O
= S g JEEE
= = EreiC=gc
=] =@ g B o g o
a] e D 0o
o U
[m] [m]
vVVvVVVVVVVVVVVVVVYV
QQQQQQQQQQQQQQQQQD [m]
O [m]
= o O o _©
Il =]
iecre i 3 2
(B0 [maesn) O O
[Ei [ E m] ]
= [ o [o o o o
B, oo+ 0| __ i=in
O o] =]
HEE
[]
) i3
[m]
[m]
o

2780.00 (mil>

ood

m}

44444994009 49d
4449491449944

o

B B
a]

0=

Mechanical 1
Mech2 (Acrylicd . X
Mechanical 5 Drill Drawing
Mechanical 11

Mechanical 13

Mechanical 14

Mechanical 15

Mechanical 16

Size legend:
1 sq in

Symbol |Hit Count |[Tool Size Plated |Hole Type
o] 4 12.992mil <0.33mm> |PTH Round
m] 237 14mil (0. 356mm> PTH Round
v 85 35.433mil <(0.Smm> |PTH Round
= 12 36.221mil <0.92mm> |PTH Round
) 4 39.37mil (1mmd PTH Round
X [ 90.551mil <¢2.3mm) |PTH Round
X 4 125.984mil <(3.2mm) |PTH Round
352 Total

Urill Drauwing.




